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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D & B A Questions / =iy KA

: - 3 | 11
v I i I _ g En A= 1,4) B
Point (-1, 4) lies in the quadrant :
U’pf % 4 By, ﬁ-k&‘ié@dlfﬁ%);ﬂ&sﬁéil:.ﬁ 2

5 Two tangents drawn to a circle (- sia—e
Triple Double Equal Half from a point outside it are of---- in length :
Fek 27 | =d & D ebnilife S bl |3

Scale * Rate Value Place Mean is affected by change in —--- :
5 5 Lé./s:.ﬂ,;,&'ﬁ-ffubuslu‘l./b’;fb 4
u:’fdf ”i_ | uiéfi p‘fbl’[;] The tangent and radius of Wy
Rl Perpendicular | perpendicular e a circle at the point of contact are - :
-~ P o -l d .;_t‘ufyuﬁx Dy )
Proportion Consequent Antecedent Relation In aratiox :y,y iscalled :
e - & oo s 3 et {x|xeW Ax<101} |6
Finite set Null set Subset Infinite set The set {x|xeW Ax<101} is :

- o : N !c‘ LJ/ i . A - P 7
g | as | o || e LS
Kiivaig Ao Radnl Disinoted The distance of any point of the circle to

its centre is called :
AT b.f:lagﬁa:bzb:c..,..wﬁvy 8
054 P¥4 'f.-"" o In continued 3 q.l:'lk( —te
Extremes Fourth Third Means proportion @ : b = b : ¢ , ¢ is said to be
---- proportional tog and b :
Ko Firg e K60 ¢S oL a i | 9
4 3 2 1 A 4 cm long chord 1 £y 1
subtends a central angle of 60°. The
radial segment of this circle is :
e by A U B Juner S BuASi | 10
BUA . ¢ B A If Aand B are disjoint sets, then A u B
is equal to :
Ctz’ g &?’ sl Fu s Roots : ‘,gu’ué 4% —4x+1=0 = bl Il
Real, unequal Real, equal Irrational | of the equation 4x* —4x+1=0 are:
ﬁ y_4 xzyz _ :i.:.._-/b'?i}:.""(yz 29l %2 12
x* x? The third proportional of x*" and y?is :
: K_-_-;.J,ijﬂf"@) {?.J’K_}lj’! 13

S o N1 . A_ng’latidms fi agd®. U/

Product Sum Histogram Constant difference of any vame “ariable
froma :
1,-60,—0)2 - 1,—a),+aJ2 —l,co,—wz - l,wm,—a)z Cube roots of — 1 are : :;{_!lejyﬁ— 1|1
1 1 15
cos@ 2 2 2 b=
2cos“ 8 sec“ @ 2sec” @ losind | 1—smd
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(PART -1 sl )
12 2. Write short answers to any SIX (6) questions : & apiz F L iy (6){:.6.( 2
(i) Write the quadratic equation in standard form : A0 1] AasdehslaGons (D)

[zt Dx=3)=~7
(ii) Solve the equation by quadratic formula : 2 ~x*=7x E’Lfd’ eIy L ablrBass (1)

(iii) Define quadratic equation. EEy S ahlaGo  (Gid)
(iv) Write the quadratic equation from givenroots : 0,—3 :é&bt/d»”:—uj ui’d,..: Gv)
(v) Evaluate : (1-o-0?) :ér}"‘ =d (V)
(vi) Find o® if ar——:i—-kzh:-i w=:-1+2—_3 /lﬁ:(:l"‘ w? (Vi)

-:’:‘.i":(:l’“' X 2 e 3(4x-5y)=2x-Ty /l (vii)
(vii) If 3(4x-5y)=2x-7y find the ratio x:y

(viiil) Find a mean proportional between : 20,45 é r)"" _,.-/UUIGLA (viii)
(ix) Define ratio. -Zl:...,’cj /;" e (X)
12 3. Write short answers to any SIX (6) questions : o AR AL oy (6){;6:( 3
(i) Define proper fraction and give one example. ety 8 St (D
(ii) Resolve into partial fractions : le : 2 ,_)f; S8z (D)

Zek YUX In¥=(2,4,59} # X ={1,47,9) S Gid)
(iii) If X ={1;4,7,9} and Y={2,4,5,9},thenfind YU X

_z‘_’:"p‘”AxB?B={—1,3}:A={0,2,4}/| (iv)
Gv) If A={0,2,4},B={ —1,3}thenfind AxB.

(v) Define an One-one function. -é‘_@ /‘." SS6 gs-ep V)
(vi) Write all the subsetsof { a, b } _ﬁ.;{yfl/“ﬁ{ a,b}er (vi)
(vii) Define geometric mean. Sy b (vid)

12, 14, 17,20, 24,29, 35,45 2t bdotrd s (vii)
(viii) Find arithmetic mean for the set of data : 12, 14, 17, 20, 24, 29, 35, 45

(ix) Find the range of the data ; 11500, 12400, 15000, 14500, 14800 : ZEpszrr (ix)
12 4. Write short answers to any SIX (6) questions : : oL Y /ﬂ L =ily (6){:.6.( 4

(i) Convert %E into degrees. EUx LS 373 6))
(ii) Find 6, when {=2cmandr =3.5cm r=35cmuif=2cm £Ze> 0 (D)
(iii) Prove that : (1 -sin?6) (1+tan? ) =1 Stk (D)

?Q}Z_nu':‘g‘fufugﬂﬂf;:’ﬁ'” av)

(iv) How many minutes are there in two right angles?

(2{1[5;; )




2

4. (v) Define acute angle. MQ,4 /-23 EEy S e (V) -4
(vi) Define secant, L Sl (vi)
(vii) Define circumference of a circle. By P8l (vid)
(viii) Divide an arc of any length into ..é(:;’ Ju:"{f{uﬂf;ugl(féyf (viii)
two equal parts. -
(ix) Define inscribed circle. : JEE Gl (%)

(PART -1l $5.2)

Note : Attempt THREE questions in all. -«Ji9 /Jdirug .é@;li:ﬁ:aﬂlrcf J s
But question No.9 is Compulsory.’

4 5. (a) Solve the equation : V3x+100 -x =4 o S Sanas () 5
4 2+ B :épb’c,{"?uxujui X+ pr+g=0 =i B et At G

- (b) If o, P are the roots of the equation x>+ px + g =0 , then evaluate a’+ p?

4 am=lV S gy M PP, s SheS S (D) 6

n+p m-5n m=5p

6. (a) Using the theorem of componendo-dividendo, find the value of

m+5n+m+3p Jif m=—19-@—
m-5n m-35p n+p
% i » = ' I ” Jy .
+ (b) Resolve into partial fractions :  =~———F—— L L6 (L)
w R mTOT Sl ad 8 - (x=1)"(x+1)
4 L B=12,3,57) MA={1,3,579} U={1,2,3,4,56,7,809,100./1 (D) .7

(AUB) =A'NB St
7. (@) ¥ U={1,2,3,4,5,6,7,8,9,10},A={1,3,5,7,9}and B={2,3,5,7 }
then provethat (AUB) =A4A'NB

4 Iéfi:r}”hjyldj.lzzxnljykf:l&f:ﬁd)ﬁ ()
(b) Find the mean length and standard deviation :
Length
Ju 20-22 | 23-25 | 26—28 | 29-31 | 32-34
Frequency
o 3 6 12 9 2
4 8. (a) Provethat : Lisng 1-500  dundend et (D) 8

1-sin@ 1+siné
s 36 AVAAS CA st BC « AB Lo B2 tn/in W§AABC (L)
(b) Circumscribe a circle about a triangle ABC with sides :

|4B|=6cm , |BC|=3cm , |CA|=4cm

8 -‘Ll.';—-a.’.‘.;lflui‘g/..!U)":—fféé_.;b.réu"ﬂ& 9
9. ' Prove that perpendicular from the centre of a circle on a chord bisects it.
OR L

-Iat‘rfmjc.d.__sf)u‘;La/_-t(‘_)’;’-W@lgﬁ;lﬁgﬁ}d}r/U!J&:',;.a/f’u";gﬂg.flsffff_:&t‘
Prove that the measure of a central angle of a minor arc of a circle, is double
that of the angle subtended by the corresponding major arc.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.
D C B A Questions / =iy kA
;:L}r/ bz /T"T"?r’/:; /.._.-?I: x3 +1 TS —\'3 +1 -l
P | Anidentity | AnTRROREr | A proper fraction | r-1)(x+2) T (r-D(x+2)
s . . VLS é 38l i |2
qu: m} 4y Jid LELJ&L;QJVZ;)L.MG:,CLL-JIJ-Q
. Two tangents drawn to a circle (& s.-_
Triple Double Equal Half from a point outside it are of---- in length :
Fezi 27 [ Ai s & R0 vy e e K
Scale * Rate Value Place Mean is affected by change in -—- :
X :,s;i’{gg’;fu'za.kﬁﬁgﬁc.x’u 4
2 ] 2 4 How many tangents can be drawn from
a point outside the circle :
” o 2 i = 3
S P SIT)) &"}L/’J!G‘ =l e =l e f g "..G"T—f‘ J3x + 32 ¥ +6=0=bl
Ql:adr?tic Reciprpcal Radical Exponential | A equation of the type 3% +327% 4+ 6=0
equation equation equation equation e o .
’ e QI Sl e L {1,2,3 ) |6
9 8 6 4 The number of elements in power set of
B i
S Lo P Cfb"L} : c‘:.'t'll:f)'sﬂlsi.;}":_.'/(/ﬁd..fb 1
. X . A chord passing through the centre of a
Radius Circumference Diameter Secant circle is called -
u=vk u=wlk u = vk? u=wk? If5=1=k,then::§ﬁ£=1=kfl :
vV _w VW
& A 3 ,T s ; +fe MY pe 9
J o J/“' J’ = 4 S L/ a:gﬂc‘:_.a.u.vu.*‘u’é.g Jd/fJ ("3}
C Overlaopi I " Parallel A pair of chords of a circle :/:unu.?
ongruent veappmg ncongruen aralic subtepding two congruent central angles is :
i . | _ o l
Iv 1 I | ey erOA-1,4) 810
R 8, 4 ) lies in the quadrant :
q 2g - q A R W +gx+r=0zbls B i
- — e S e Bl -
2p p p p Ifo Bare & e 26 2Bu200n
.| the roots of *p 2 +gx+r =0, then
Pm of the yodt® 20 and 2B is :
-t P S ras < & N ' ; ;_’.‘c.nkfyu!x Ly | 12
Proportion Consequent Antecedent Relation In aratiox:y’,y3gscalled :
Sl &, o S N Nyl BE
Triangle Square Rectangle Closed figure | A freque:ngy Rad, __n_..i‘ggmany sided :
o ,0° Lj=a 1w 1,-1 ) (e é/u@»&dﬁ .
Two squi: ; arare :
2 P 15
A\/‘)_ ,\/E I— ————w—l .," = -
2 V2 242
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( PART -1 Jsl.« )
12 2. Write short answers to any SIX (6) questions : 4 Az A L iy (6){:‘-&3:( 2

(1) Write the quadratic equation in standard form : e A d;.i,vf ehbeGn (1)
© x+4 x—?.+4:0
x-2 %
(ii) Solve the equation by quadratic formula : 4x> —14=3x :ZEFetrblhlGoms (i)
(iii) Define radical equation. Ty Seilege il
(iv) Write the quadratic equation from given roots : 2l gyl (j'.m;:..uj :Jgé.J (iv)
3+42,3-42
(v) Evaluate : (2+ 20 - 20°) (330 + 30%) Zepad (V)

_&iﬂr}”hjﬁuwb»u;f Kujuﬂ 2px’ +3gx—4r=0 =ble (Vi)
(vi) Find the sum and product of the roots of equation 2px® +3gx—4r=0

Jé{':t”u:x edfy Inx=3 c2y=7 ninyxx S (vid)
(vii) If ycx and y=7when x=3, find yin terms of x.

(viii) Find a third proportional to : g mdidSreD e B E (viid)
(ix) Define inverse variation. -5..? 7 Sus7 (x)
12 3. Write short answers to any SIX (6) questions : A =2 A L =iy (6){;@/ 3
(i) What is proper fraction? ?‘Lanul// = (1)
(ii) Resolve into partial fractions : JEed 2L J'..J'; S Sz (i)
(x+1)(x-3) S

e XOY InY=(2,459) » X={1,47,9) J1 (i)
(i) If X ={1,4,7,9} and ¥={2,4,5,9}, then find X UY

(iv) Find a,bif (a—-4,b-2)=(2,]) (a-4,b-2)=2,1) L& b a (V)
(V) If L={a,b,c} thenfindL xL e LxLinL={ab,c}/1 (V)
(vi) Define subset and give an example. &S el s A S ‘.:»rC‘; (vi)
(vii) Define geometric mean. Sy P bas i (vii)
(viii) Find the range of the data : 11500, 12400, 15000, 14500, 14800 :ér:‘”wtfﬂr (viii)
(ix) What is histogram? ‘-'u,_?a./é.iﬁd ¢ (ix)
12 4, Write short answers to any SIX (6) questions : : o AT 4 AZ L =y (6){«:43)/ 4
(i) Define radian. ZEy s @
(i) Find ‘T, when £=52cm , 0=45°  _x 0=45° »l 0 =52em 2@ edd 1 (i)
(iii) Prove that : %‘;"—59 =1+tand S e GiD
(iv)  Write the relation between degree and radian. -5{}'&“}“}'&/5”!@%} Gv)

(2‘01: )



Q)
4. (v) Define tangent of a circle. M R _4 p I u__é..ij j" Sovwlon ) -4

(vi) Define circum circle. -5...53 Vd Solts 028 (Vi)
(vii) Define chord of a circle. Sy PEHLe s (viD)
(viii) Define central angle. PS8, (viid)

(ix) The length of each side of a _érﬁ’.bbi(u’f-gf?nijbuédﬁ‘(p-{f (ix)

regular octagon is 3 cm. Measure its perimeter.

(PART-II $5.2)

Note : Attempt THREE questions in all. - -4.(!)0 9 /dlru‘g ﬁa&lﬁﬁaﬂlﬁ& ;f OR
But question No.9 is Compulsory.

4 5. (a) Solve the equation by completing square : : éd'a..é/d‘fu Jabls (D) 5
ax’+4x-a=0,a%0
4 -w&?ujué: (b-c)x*+(c-a)x+(a—b)=0 .:..up.l’é_v.ﬁ (o)
(b) Show that the roots of the equation (b—c)x> +(c—a)x+(a—b)=0 are real.
4 §—x:l11-x:16-x:25-x & aifx Letln () .6
6. (a) Find xinthe proportion 8-x:11-x:116-x:25-x
4 (b) Resolve into partial fractions : ;%;j—_—? Z_ff S8 (L)
4 | B={2.3,57} sA={L3570}a0={1,234,56,789,10} J1 ()) .7

(AnBY = 4'U B JEE3 DS s LS AS3In
7. (@) IfU={1,2,3,4,56,7,8,910},A={1,3,5,7,9}and B={2,3,5,7}
then verify the De-Morgan’s law : (AN B) =4 UB
4 (b) Find the standard deviation "S" : :.’:f'.:r}" "S" O AISA (&)
9,3,8,89,8,9,18

4 Eedred 0 JFEdeFdin sind<0 o tand =% Sy 8

8 (&) . mand= % and sin@ <0, then find values of other trigonometric

functions at @
4 Lt PR S s 4 e 3OS S sl 1226 L ()
(b) Circumscribe a circle with regard to a right angle triangle with sides
3cm, 4 cmand 5 cm.
8 _la.tn);f.g)'sfﬁ;h."ﬂfsé_)’..ﬁ;"’-tf (ﬂ.?)':":? )}':J(:..f/":z_;l;fé.;:t‘ 9
9. Prove that a straight line, drawn from the centre of a circle to bisect a chord
( which is not a diameter ) is perpendicular to the chord.
OR L
-ﬁ:.':’::l.'f;)c.a, :U.«r“"ﬁo/.-.:',J;".‘il:'?&,U:Ju."v,slidf/uisé,;ai‘ufuﬁgfl:ffé;at‘
Prove that the measure of a central angle of a minor arc of a circle, is double that
of the angle subtended by the corresponding major arc.
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